Assignment #1 Solutions

Mark out of 10, 4 marks for 70, 4 marks for 72, 2 mark2 for 74.
(Note: future assignments will be longer).

70.

Oy e n Cordarrptaon

Tasa e
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There 1s a sgnificant difference in the vasiabality of the two samples. The weight training
procuced mach higher oxygen consumption, on average, than the treadmell exercise,
with the median coesumptions beng approxamaely 20 and 11 Iners, respectively

b. Subtracting the y from the x for each subject, the differences are 33,9.1,104,9.1,62,
25,22.84A.87,144,25,-28, 04,50, and 11.5
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The majority of the differences are positive, which suggests that the weight training
produced Mgher axygen consumption for most subects, The median difference is about 6
liters.



7. A table of summary statistics, 2 stem and Jeaf display, and a comparative baxplot are below.
The healtry individuals have kigher receptor binding measure oa average than the individuaals
with PTSD. There is also mare vanaton is the heaihy iadividuals” values. The distesbuton
of values for the bealthy is reasonably symmetric, while the distribution for the PTSD
iedividaats 1s negantively skewed. The box plot isdicanes that there are wo outhiers, and
confirms the 2bove comments regarding symmetry ané skewness.
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Mode = 93. It occurs four times i the data set.

Tre Modal Category is the ane in which the most observations occur.



